4

/

1" MIN T

NOTE:

1/2" MIN

2 3/4" 2 3/4"
MIN MIN — T=11/4"UNO
L R - i’ =D
P o x| =
UM 2
- - \4;{ a ‘s E ) ?
e K3
CONCRETE

1. MINIMUM SPACING AND EDGE DISTANCE FOR POWDER ACTUATED FASTENERS BASED
ON FASTENER INFORMATION FROM HILTI, INC.

MINIMUM DISTANCES FOR POWDER ACTUATED FASTENERS

MIN SPACING = 12 x SCREW DIA
- 21/4"FOR 3/16" DIA SCREW

- 3"FOR 1/4" DIA SCREW T T
q;q 8 k A . <;'
\,\/: >§:\/\ 4: N /<7\/7
An ;41 \15 A—/.\v
CONCRETE
NOTE:

MIN EDGE DISTANCE = 6 x SCREW DIA
- 11/8"FOR 3/16" DIA SCREW
- 11/2"FOR 1/4" DIA SCREW

1. MINIMUM SPACING AND EDGE DISTANCE FOR KWIK-CON Il SCREW FASTENER BASED

ON FASTENER INFORMATION FROM HILTI, INC.

MINIMUM DISTANCES FOR CONCRETE SCREW FASTENERS

NOT-TO-SCALE

CONTINUOUS 2" x 20 GA. STRAPPING
ON EACH JOIST FLANGE (STRAPPING
TO START, END, AND SPLICE AT SOLID
BLOCKING)

ATTACH STRAPPING TO
BLOCKING WITH (8) #10-16
SCREWS, EQUALLY SPACED,
TO EACH FLANGE AS SHOWN

ATTACH BLOCKING TO JOISTS
WITH (2) #10-16 SCREWS IN
EACH FLANGE AS SHOWN

ATTACH STRAPPING TO
EA STUD FLANGE WITH

(1) #10-16 SCREW

Vi

\ MIN 18 GA RUNNER TRACK SOLID BLOCKING

AT 10'-0" oc MAX. MAKE RUNNER TRACK 8"
LONGER THAN JOIST INSIDE SPACING. CLIP
FLANGES OF TRACK 4" FROM EACH END.
BEND TRACK AT CLIPPED FLANGES.

TYP. FLOOR/ROOF JOISTS

NOTE: PROVIDE SOLID BLOCKING
AT ENDS OF JOIST FRAMING,
ADJACENT TO ALL JOIST OPENINGS
AND AT 10'-0" oc MAXIMUM ALONG
LENGTH OF FLOOR SYSTEM

FLAT STRAP BRIDGING AT FLOOR/ROOF JOIST

NOT-TO-SCALE

ATTACH TRACK TO STUD
WITH (2) #10-16 SCREWS
THROUGH WEB AT EACH
SIDEOF SPLICE.

TOP TRACK

NOTES:

PLACE TOP TRACK SPLICE AT
MIDSPAN BETWEEN STUDS.

\ 6" LONG PIECE OF STUD
INSIDE OF TOP TRACK.

\ ATTACH TRACK TO STUD
WITH (2)#10-16 SCREWS
PER FLANGE AT EACH
SIDE OF SPLICE

~~——— WALL STUD

1. DO NOT SPLICE TRACKS (TOP OR BOTTOM) WITHIN 2'-0" OF THE X-BRACE

CONNECTION, IF APPLICABLE.

2. DO NOT SPLICE TOP TRACK OVER DOOR ROUGH OPENINGS, IF APPLICABLE.

TOP TRACK SPLICE DETAIL

NOT-TO-SCALE

CONTINOUS
RIM TRACK

TOP TRACK
WALL STUD ———=

FULL HEIGHT WEB STIFFENER.
ATTACH TO JOIST WITH (6) #10-16
SCREWS.

FLOOR JOIST PER FRAMING
PLAN. FLOOR JOISTS MUST
ALIGN DIRECTLY OVER
STUDS.

TYPICAL JOIST WEB STIFFENER DETAIL

NOT-TO-SCALE

CLIP ANGLES AT TOP AND
BOTTOM OF HEADER. SEE
OPENING FRAMING ELEVATION

FULL HEIGHT WEB STIFFENERS

OVER JACK STUD. INSTALL \
INSIDE OF BOX HEADER AND
ATTACH WITH (6) #10-16 SCREWS.

FULL HEIGHT JAMB STUDS. ———=
SEE OPENING FRAMING
FOR MEMBER SIZE AND
CONFIGURATOIN

JACK STUD ASSEMBLY. SEE
OPENING FRAMING FOR MEMBER
SIZE AND CONFIGURATION

BOXED HEADER. SEE OPENING FRAMING
FOR MEMBER SIZE AND CONFIGURATION

~=—— CRIPPLE STUDS

BOXED HEADER WEB STIFFENER DETAIL

NOT-TO-SCALE

NOT-TO-SCALE

3

6

NOTE: PROVIDE SOLID BLOCKING
AT ENDS OF WALL STUD FRAMING,
ADJACENT TO ALL WALL OPENINGS
AND AT 10'-0" oc MAXIMUM ALONG
LENGTH OF WALL

MIN 18 GA. RUNNER TRACK SOLID
BLOCKING AT 10'-0" oc MAX. MAKE
RUNNER TRACK 8" LONGER THAN STUD
INSIDE SPACING. CLIP FLANGES OF
TRACK 4" FROM EACH END. BEND
TRACK AT CLIPPED FLANGES

ATTACH STRAPPING TO
BLOCKING WITH (8) #10-16

SCREWS, EQUALLY SPACED,
TO EACH FLANGE AS SHOWN

ON EACH SIDE OF STUDS.

SPLICE AT SOLID BLOCKING)

ATTACH STRAPPING TO EA STUD
FLANGE WITH (1) #10-16 SCREW

TYPICAL WALL STUD

FLAT STRAP BRIDGING AT WALL STUDS

baSG design group, inc.

94 Auburn Street - Unit 206, Portland, Maine 04103

t: 207.553.2070 - f: 207.553.2072
www.basedesigngroup.com

ATTACH BLOCKING TO STUDS
WITH (2) #10-16 SCREWS
EACH FLANGE AS SHOWN

CONTINUOUS 2" x 20 GA. STRAPPING
(STRAPPING TO START, END, AND

NOT-TO-SCALE

(4)#10-16 SCREWS AT

CORNER THROUGH WEB

TOP TRACK

WALL STUD

COPE FLANGES OF
TRACK AND LAP AT
CORNER

(1) #10-16 SCREW
PER FLANGE AT
EACH WALL STUD

TYPICAL CORNER TIE DETAIL

Key Plan

Sheet Issue / Revision

No.

Date Description

04/27/17 Permit Set

NOT-TO-SCALE

Seal/Signature

.
aan® “raa,
",

/ MIGUEL % =

%

« { BETANCOURT  ,, =

ok lyo.mo;s ._-’a:;

77 SIONAL S

Trrcionnyy

Project

UNIT 5 - LOADING DOCK
1039 RIVERSIDE STREET
PORTLAND, MAINE

Client
HardyPond
Construction
Portland, Maine
Title
TYPICAL
COLD-FORMED
STEEL DETAILS
Project Number 17068-0
Drawn By Author
Checked By Checker
S-500
Scale As indicated




